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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQGHVNULSVLNDQ ��� NHWHUVHGLDDQ VLVWHP�
SURWHNVL� DNWLI� WHUKDGDS� DQFDPDQ� NHEDNDUDQ� GL JHGXQJ� GL� 8QLYHUVLWDV� 1HJHUL�
3DGDQJ� �813�� .DPSXV� $LU� 7DZDU�� �� NHWHUVHGLDDQ� VDUDQD� SHQ\HODPDWDQ�
NHEDNDUDQ�GL�813�.DPSXV�$LU�7DZDU�

-HQLV� SHQHOLWLDQ� LQL� DGDODK� GHVNULSWLI� NXDQWLWDWLI�� 3HQJXPSXODQ� GDWD�
PHOLSXWL� VXUYH\ ODSDQJDQ�GDQ�GRNXPHQWDVL�� 3RSXODVL SHQHOLWLDQ� LQL�DGDODK� VHPXD�
JHGXQJ�GL�8QLYHUVLWDV�1HJHUL�3DGDQJ��6DPSHO�GLDPELO�VHFDUD�SXUSRVLYH�VDPSOLQJ
\DLWX� EDQJXQDQ� \DQJ� PHPLOLNL ULVLNR� NHEDNDUDQ� WLQJJL�� 'DWD� SHQHOLWLDQ� LQL�
PHUXSDNDQ�GDWD�SULPHU�GDQ�GDWD�VHNXQGHU��7HNQLN�DQDOLVLV�\DQJ�GLJXQDNDQ�\DLWX�
SHUVHQWDVH�

3HQHOLWLDQ� LQL� PHQHPXNDQ�� ��� 6LVWHP� SURWHNVL� DNWLI� \DQJ� WHUVHGLD� SDGD�
PDVLQJ�PDVLQJ JHGXQJ� GL� 813� FXNXS� EHUYDULDVL� \DQJ� GRPLQDQ� DGDODK JHGXQJ�
\DQJ�PHPLOLNL� VDWX� VLVWHP� SURWHNVL� DNWLI� GDUL� \DQJ� VHKDUXVQ\D� OLPD� DODW� VLVWHP�
SURWHNVL� DNWLI�� �.HPXGLDQ� GDUL� ��JHGXQJ� \DQJ� GLWHOLWL�VLVWHP�SURWHNVL� DNWLI� \DQJ�
EHUIXQJVL� NXUDQJ� GDUL� ����� GDUL� DODW� \DQJ� WHUVHGLD�� ��� 'HPLNLDQ� MXJD� VDUDQD�
SHQ\HODPDWDQ� GL� 8QLYHUVLWDV� 1HJHUL� 3DGDQJ� FXNXS� EHUYDULDVL�� \DQJ� GL� GRPLQDQ�
DGDODK� JHGXQJ� \DQJ�PHPLOLNL� HPSDW� VDUDQD� SHQ\HODPDWDQ� GDUL� \DQJ� VHKDUXVQ\D�
HQDP�VDUDQD�SHQ\HODPDWDQ�

.DWD� .XQFL� .HEDNDUDQ�� .HWHUVHGLDDQ�� .RQGLVL� 6LVWHP� 3URWHNVL� $NWLI�� 6DUDQD�
3HQ\HODPDWDQ


